EARAROBEEIERT — 2 N— IBISH —F

2019568220 (£) SEIBR#H7H

N v >%3m *B7 (Ra) U5l 5

‘ [R1%] & ‘ [REBE] — | Z (A) 18000 B

[A~&£] 1 7% 5,000,000  ~ 23 :2,000,000H 33 :1,300,000 " 43 :750,000 " ~ 5 j& :500,000

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
> ;= 43 | JIIEER 1:47.5 3-3 36.4| 88.0 | 1 436 | BRE (RR)
118|18| %1 7F771 ¢ 54.0 =) o) | B) FrOvrTw—L
R:FA—TAL b B:FU—aLI b =¥ Tr—L
N . o ZEBEAN 147. — . . BE—% (FXN)
o 17|15 nE /AL TR it 3 e (11417/27) 5-4 36.4| 8.0 | 5 a:é;i e
LN—E>Tv— BNE/T1yPa HRAEHE /—Zex
- 4 3 | TRUE—EB 1:47.9 17-14 | 35.4| 83.3 | 9 428 | EllFELZ (R’R)
3 7 71—9”/’('7 54.0 (1 1/4) (+8) FRIEBH
L:/G1UXN B:T7x—400-X HET7—L
=0, A HER : - TERBK (ER)
4 S WELE 43 NS 1(;{15:5) 9-10 36.1| 82.8 | 11 zzg)e e
RN—ErTr— BFg—E-J-> =Eiie
SR > 3 | EPR 1:48.0 7-7 36.4| 83.0 | 3 464 | EEHMF (ER)
51713 Ly Fb—="Ju 54.0 (7€) (2) | ) EEH-ZL—>T
RL:ily RXN—4 FB:oa9v48m> KEH S
S = 4 3 | FMEBEZ 1:48.1 13-11 36.0|81.7 | 8 488 | LAIE(T (ER)
6159 IA>>T+—F> 56.0 7€) () | W) wER
L:Iq > 7ROy BI-YLVILET FERS
N . GispapERud : = E+RBE (BH)
715l10| T w1 i 3 g 1.(428).4 2-1 37.5| 80.0 | 2 12(7»2 i g%
L:d—IWRT7Y2—)b B:75y7FA—% J—=HrTrp—L
o s — 1BKIh— : ~ B8 (F®)
8 6| ANy v aLF g 4 3 s 1.(428).7 11-8 36.9| 76.5 | 6 (530) b:?f*;ww/
LN—=v774 B:iA—vizA H—L— - JvX> - T7—LARS
. - s FRAEABA 148. - . . IR = (EX)
N . MBS "3 ERD e R R R B el 1o
RIA2T75yva By oq TAFAT7—L4L
5 . 4 3 | WEEH 1:49.0 1-2 38.1]75.0 | 7 494 | ZREETT (BR)
10011 1 Hh7oA—-X A51.0 (1 3/4) (-) |DnBESE
R:FA4TATv— B:IURyNEDS J—HrIr—L
= 4t 3 | BHF 1:49.1 14-16 | 36.3| 72.0 | 18 | 432 |EDEEZ (ER)
11714 7270 =51 6.0 (76) o) | ) F-x3
LN=v774 B:IT7A1JILT RENS
S H— 4 3 | =X 1:49.6 5-4 38.2| 69.6 | 10 | 474 | KBS (FR)
12/ 816 21t FLyY 56.0 (3) (-a) Mz
R:Tv2R29z4 B:FLT-KFIvz R A
S, s - = > 3 | MLUELFE 1:49.7 9-11 37.6| 67.7 | 12 486 | SHIAEER (EH)
13 3| VAT A =T — - 56.0 (3/4) (—) |BIEEE
R:Z27)—>kb—A— B:eEY1H¥ANIL RIS
RS > 3| AIRKE 1:50.3 14-15 | 37.6| 62.0 | 17 | 484 |FHE (ER)
141112 Tty bEZMZIL - 56.0 (4) (-4) =t
LNZ—ka1—X B:aYIAF kX NREE
JZk o3 | B2 1:50.6 18-18 | 36.8| 57.5 | 4 496 |MTES (FR)
1506H 11 56.0 (1 3/4) (-g) | ) ¥-77-X
LFA—TAT b BTy —ZhY J—HrTr—L
7 7 .= 4 3 | BEHEI—ER 1:51.0 14-17 [ 38.0| 56.3 | 16 | 430 |Z&ABET (R=)
161817/ )V b T 12 .0 2 1/2) (4 |, W) GrL=—>>7
LT =TA2INT~ B4 EY HET7—L
s 03 | et 1:51.2 3-4 39.8| 58.2 | 15 | 388 |KE—R (ER)
17N g | HIT 2> 54.0 (1 1/4) (o) |DETE
Y57V IFo N BiF—La2N1 7 AMTIWVT 7— L
\ : 4 3 | BERE 1:52.5 7-8 40.7| 49.3 | 14 | 488 |ABER— (ER)
18 5 VAN I\}[/7U—'}7A 56.0 (8) +2) LT
RIAY>T75yva BiIXJIFyY V&S Hs
@ 21 L
£y 48.5-36.6
NO>24 L | 12.4-11.0-11.6-12.0-12.0-11.9-12.0-11.7-12.9
® I—F—&EBIERL
13—7-
23—7F—
== 1,10-(8,18) (15,16)-(5,13) (3,12)6,4,9(2,14,17) 7=11
Mal=5r= (1,%10)18(8,15,16)13(5,6)12(3,9)4,7,2,14,17=11
[ RN
B Oj 18 230 794K 15-18 520M & 7-8 520 &R 7-15-18 6,950/
B B 18 130M4 7-18 1,090M B E 15-18 1,300 EE 18-15-7 24,2704
15 250/ 7-15 2,290 B H 18-15 1,850
7 420M

ABICOVWTRDTEEERROODE. TR LIV,




